-Po Battery -

- Side to Side Li

2x 2S 60001 8400mA Li-Po Battery

HW30113301
GP-101

O
()
L
<
To)
%]
la
o
<
N
<

NOT INCLUDED

NOT INCLUDED
IP5043128D8R9-252P
IP5643128D8R9-252P

M3x6

a shorter 10AWG cable

NOT INCLUDED

Series Connection Note:
5 Use

_@

Cap18024

Cap17030

3x6x2 Shim
Cap22015

M3x8 Flanged
Cap17034

3x6x4 Shim
Cap22018

Cap40025

M3x6
Cap17029

14/B


http://capricornrc.com/capricorn/it/018-viteria/1530-vite-m3x6-ts-10pz.html
http://capricornrc.com/capricorn/it/esc-gp-series/4033-gp-series-235a-esc.html
http://capricornrc.com/capricorn/it/intellect-batterie/3577-intellect-batteria-2018-lihv-120-c-6000-hc30.html
http://capricornrc.com/capricorn/it/intellect-batterie/3576-intellect-batteria-2018-lihv-120-c-8400-00CC2S8400HV3.html
http://capricornrc.com/capricorn/it/018-viteria/1899-vite-m3x10-ts-10pz.html
http://capricornrc.com/capricorn/it/optional-lab-c03-evo/1934-3x5-5x2mm-spessori-in-alluminio-8pz.html
http://capricornrc.com/capricorn/it/018-viteria/1529-vite-m3x6-sv-10pz.html
http://capricornrc.com/capricorn/it/ricambi-lab-p01-pan-car-1-10/2782-colonnina-ponte-retrotreno.html
http://capricornrc.com/capricorn/it/rasamenti/1936-3x5-5x4-spessori-in-alluminio-4pz.html
http://capricornrc.com/capricorn/it/ricambi-c8-sr-18-ep-pan-car/2784-colonnina-inferiore-avatreno.html
http://capricornrc.com/capricorn/it/018-viteria/1831-viti-m-3x8-flangiata.html
http://capricornrc.com/capricorn/it/018-viteria/1530-vite-m3x6-ts-10pz.html
http://capricornrc.com/capricorn/it/ricambi-c8-sr-18-ep-pan-car/3902-labc8-piastrina-esc-carbonio-.html
http://capricornrc.com/capricorn/it/hobbywing-esc-motor/3469-xerun-xr8-sct-regolatore-brushless-140a-sensored-sensorless-1-8-1-10-.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/4104-piastra-ant-inf-doppia-batteria.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/4103-piastra-ant-sup-doppia-batteria.html
http://capricornrc.com/capricorn/it/optional-c8-sr-18-ep-pan-car/4105-descrizione.html



